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N.B.:
1. All questions are compulsory.
2. Each question carries 15 marks.

3. Draw neat diagrams wherever necessary.

Q.1 Answer the following :

a) Explain various concept of revenue. [5]
OR

b) Describe limitations of Break-Even Analysis. [5]

c¢) Discuss features of monopoly. [5]
OR

d) Explain dumping with the help of a diagram. [5]

¢) Examine wastages under monopolistic competition. [5]
OR

f) Describe marginal cost pricing. (5]

Q.2 Answer the following :

a) State the relationship between AR and MR under perfect competition. [8]

b) Discuss TR-TC Approach of profit maximisation of a firm. - [7]
OR

c) Explain Break-Even analysis with the help of a diagram. [8]

d) Find out break even point, if Total Fixed Cost (TFC) is Rs. 400, price
is Rs. 4 and AVC is Rs. 2. [7]

Q.3 Answer the following.

a) Explain features of perfect competition. . (8]

b) What are the types of discriminating monopoly ? [7]
OR



d) Write features of oligopoly. [7]
Q.4 Answer the following :
a) Explain full cost pricing'with the help of a diagram. ‘ 8]
b) Discuss multi product pricing with the help of diagram. [7]
OR
c) Write meaning and significance of capital budgeting. (8]
d)| Calculate|Pay Back Period fpr following investment|proposals apd rank them. [7]
Project Investment Annual Cash flow PBP Rank
Rs. Rs.
1 12,000 3000
2 5000 2500
3 20,000 4000
B 6000 2000
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